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1. Factorize x" +2x*—x—2 iﬁtu‘ﬁ}s linear factors. J
Step 1: List all possible roots. +‘ ¥ 2
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Step 2: Guess can check to find the first real root.
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Step 3: Do synthetic division and/or factor and/or use Quadratic formula
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2. Factorize over rational humbers of
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3. When X Tax Fbx+3isdivided by x—2 and x—4, the remainders are -3 and 15 respectively. Find a and b.

N {a)

,ﬂ?ﬁ
{)=3 » /‘2 Gyataby3g -3 = Lo “"‘Li__._ Sl Hho gyste
byt3=67 SAths S

A B L
'F(l-\-)rlS‘ %Z{lkﬁ]éqﬂ“l-bz/_\glg = [lha t4b ="59Js> O+h=~13

4. If x—2is a factor of p(x)=4x’ +kx—2, find the value of k. Hence factorize p(x) fully.
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5. When p(x)=ay’ +bx? +x—2is divided by/t it has a remainder of 6. Given that x+1 is a factor of p(x), find all
roots of p(x). ; __.,/
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Even More Practice : No Calculators!!

1. Find a 3" degree polynomial with zeros % and2-i. [3]
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7. (x—3) is a factor of x +x L(Iocx+152)F1:ugL8evaluc ol k. [3] P AR g x -
v sl
<3 ) N 2 -
mﬁ‘ﬁwf 3% *LQX "ol)(z'i‘ (DAY

OEN s)_\ 3)° ~m)1/

——«-3k~«sl— = :3' - @ — —

(e

3. Find the quotient and remamder.
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4. Use synthetic division, and hence write the division in the form P{(x)=0(x)D(x)+ R(x).
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5. The equation x’ +x* +ax—4=0 has one root equal to -2. %S
Find the values of a and the remaining root. —20= R
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6. The equation 2x* +ax? +bx+9 =0 has one repeated root equal to 3.

Find Ithe values/?i'a and b and the remaining root. (_h) Q ( { 2 4 X+G ) ( X _ C)
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